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Exam

1. (5 pts.) How does a market system answer the basic economic question: what goods
will be produced and in what amounts?

2. (10 pts.) Recent developments in the market for corn are having ripple effects in other
sectors of the economy. The prices of products such as Wheaties (a wheat-based cold
breakfast cereal) and Cheerios (an oat-based cold breakfast cereal) are expected to rise.

Consumption of ketchup is expected to fall. Use supply and demand analysis to explain
P why these changes are likely to occur.
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3. (5 pts.) What are some of the perverse side effects of rent controls on apartments in
Mumbai, India?
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4. (10 pts.) In an attempt to increase attendance, Cedar Point amusement park decides to
lower the price of admission from $45 to $40. In the year following the price reduction,
attendance increases from 3.1 million to 3.4 million visitors. You are asked by
management to calculate own-price elasticity of demand, and then to advise them on
whether this was a good idea. P.S., they would like for you to show your calculations.
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5. (5 pts.) Recently the state of New Mexico raised the tax on beer, leading to a ten-
percent increase in the price of beer. Beer sales fell by around five percent statewide. In
the adjoining state of Texas, the managers of Lone Star Brewing Company observed the
experience of the state of New Mexico and decided to raise the price of their premium
Pearl beer by five percent. They experienced a ten percent drop in quantity sold.
Perplexed, they turn to you for an explanation for this seeming anomaly.



6. (15 pts.) We own and operate a Johnny Jim’s sandwich shop. After some
experimentation with our current configuration of the restaurant, we find that labor and
output vary in the following way:

Labor (person-hours) 0 1 2 3 4 5 6 7 8
Output (meals per hour) | () 12 32 64 90 105 115 120 | 122
(a) Use the concept of marginal product to explain at what point diminishing returns set
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(b) Total compensation costs (wages plus benefits) per worker are $10 per hour. The
only other variable costs besides labor are the sandwich ingredients, which cost a
constant $.50 per sandwich. Plot eight points on our firm’s average variable cost curve.
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7. (5 pts.) The short-run average total cost curve is U-shaped. Explain the economic
intuition behind this shape.
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8. (10 pts.) Your instructor’s younger sister Betsy owns and operates a sandwich shop in
Fort Walton Beach, FL. The income statement for her business shows annual revenues of
$150,000. Costs include wages for hourly employees ($35,000), utilities ($15,000), food
supplies ($40,000), taxes ($5,000), advertising ($5,000), and insurance ($5,000). Betsy
quit her job managing a similar business where she earned $25,000 per year, but she pays
herself no salary in this business. She and her husband own the strip mall where her
sandwich shop is located, and the space occupied by her shop previously rented for
$1,000 per month. They have $40,000 invested in the business, which they could recover
if they liquidated. They ask you to help them figure out the “rate of return” they are
earning on their $40,000 that they have invested in the sandwich shop. Evaluate the
economic profitability of their business.
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9. (5 pts.) The oil company that you work for decides to vertically integrate into
shipping, and asks you to evaluate the per barrel costs of transporting crude oil by tanker
ships. You consider building two small ships or one large ship. What factors might
cause average costs to decline as the size (scale) of the ship increases?
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10. (10 pts.) A firm produces two products, X and Y. The production technology
displays the following costs, where C(i, ) represents the cost of producing i units of X
and j units of Y:

C(0,50) = 100 C(5,0) =150

C(0,100) =210 C(10,0) =320

C(5,50) =240 C(10,100) = 500

Does this production technology display economies of scale? Of scope? Explain your
answers.
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11. (5 pts.) Why are there so many fast-food restaurants in Lexington, yet only one ice-
skating rink? Illustrate your answer with diagrams.
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12. (10 pts.) Consider each of the following situations, and explain whether you would
recommend “make” or “buy” to the parties involved, i.e. evaluate the sort of vertical
relationship you think might work best.

(a) An electric utility contemplates building a power plant right beside a very thick coal
seam located in the mountains of eastern Kentucky.

(b) A construction company that has occasional needs for dump trucks to haul various
things contemplates buying its own fleet of trucks.
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13. (5 pts.) Toyota has organized workers into teams to carry out the production of cars
in its factories. This approach has been very successful for Toyota. When Levi’s tried to
organize its workers into teams to produce garments like blue jeans, however, it met
considerable resistance from its workers and decreases in productivity. Why didn’t this
approach work at Levi’s?



